
SAP ABAP table PTRV_UTIL_VERLAUF {Stopover}

PTRV_UTIL_VERLAUF

ZLAND [CHAR (3)]

RGION [CHAR (5)]

KZREA [CHAR (1)]

BEREI  [CHAR (1)]

KZTKT [CHAR (1)]

T702G

MANDT [CLNT (3)]

MOREI [CHAR (2)]

KZREA [CHAR (1)]
 PTRV_UTIL_VERLAUF-KZREA = T702G-KZREA 0..N

1

T702O

MANDT [CLNT (3)]

MOREI [CHAR (2)]

LAND1 [CHAR (3)]

RGION [CHAR (5)]

 PTRV_UTIL_VERLAUF-RGION = T702O-RGION 
0..N

1  PTRV_UTIL_VERLAUF-ZLAND = T702O-LAND1 0..N

1

T702R

MANDT [CLNT (3)]

MOREI [CHAR (2)]

KZTKT [CHAR (1)]

 PTRV_UTIL_VERLAUF-KZTKT = T702R-KZTKT 

0..N

1

T702X

MANDT [CLNT (3)]

MOREI [CHAR (2)]

BEREI [CHAR (1)]

 PTRV_UTIL_VERLAUF-BEREI = T702X-BEREI 

0..N

1


